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FREN FEREM FEEM
(AR™) (AE™) (AR™)
2FF4 R NE 7,315 7,700 11,000
Model 3
AFE8ARNE 13,965 14,700 21,000
2FF4RNE 10,450 11,000 15,000
Model S
4F8HNE 19,950 21,000 28,000
2FF4RNE 11,400 12,000 16,000
Model X
4F8HANE 20,900 22,000 29,000
2FF4RNE 7,980 8,400 12,000
Model Y
4F8HANE 15,295 16,100 23,000

#1E &8 5 Hr AL O AR 55 L iR)

RIEERSHY (USERRITTME
{389
HE LR BE. BE

SERNFE: REESHT O

, BAUEATHE,
SHTEATTAZLR) o

EAE S FRAVE T E P AR )ET
ERUERTHE, FERIIDNE=FE. 15

EAARIERR S IS LU E B A IS ARAB R (FREKRESHNERER ) QEE" “RHTRLR B AR A VSEEIR AR



